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Sixth Semester Examination — 2012

IRRIGATION ENGINEERING

Full Marks —70

Time : 3 Hours

Answer Question No. 1 which is compulsory and any five from the rest.

The figures in the right-hand margin indicate marks.

1. Answer the following questions : 2x10

Find the relationship among duty, delta, and base period.

What is significance of readily available moisture ?

Write four diﬁerenceé between sprinkler and drip irrigation.

What is water distribution efficiency ?

Find the pressure diagram of wave force in the reservoir of a dam.

What are various types of failure under hydraulic type in case of earthen
dam?

What is incoherent alluvium soil ?

In which situation cross drainage works are necessary ?

Mention different types of canal fall.

Sketch the practical profile of gravity dam (Description is not necessary).
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2. (a) Discuss various methods of assessment of irrigation water. 5

(b) The field channel has culturable command area of 2000 hectares. The
intensity of irrigation for gram is 30 % and for wheat is 50 %. Gram has a
kor period of 18 days and kor depth of 12 cm, while wheat has a kor period
of 15 days and kor depth of 15 cm. Calculate the discharge of the field

channel. 5

3. Describe briefly the stability check for various modes of failure of gravity dam.
10

4. (a) Discuss the various drawbacks in Kennedy's approach of canal design. 5
(b) Using Lacey’s theory, design én irrigation channel for the following data : 5
Discharge Q = 50 cumecs
Silt factor f=1
Side slopes="2:1
5. Describe briefly various types of cross drainage work. 10

6. Describe two criteria for design of foundation on porous media according to

Bligh's theory. s 10
7. (a) Whatare the factors affecting duty ? 5
(b) Determine the field capacity of a soil for the following data : 5

Depth of root zone = 1.8 m

Existing moisture = 8%

Dry density of soil = 1450 kg/m®

Quantity of water supplied to soil = 650 m3

Water lost due to deep percolation and evaporation = 10%
Area to be irrigated = 1000 m®
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8. Write short note on the followings : - 5x2

(a) Head regulator and cross regulator

(b) Uplift pressure on the gravity dam.
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